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Open issues In the backplane PCS FSM. snosicon

* During draft 1.2.1 comments resolution, there was one filed for using
rx_Ipi_mode in the receive PCS state diagram, but instead the resolution
was to remove rx_Ipi_mode variable itself.

* We still believe that it is necessary to have that variable to avoid
asserting “non /LI/” to the RS layer during transitioning in and out of
Quiet.

* The following set of slides discusses the open issues in the CL36, CL48
and CL49 PCS state diagrams for EEE specific states.

— The proposed solution uses the variable rx_Ipi_active. Renamed rx_Ipi_mode to
rx_lpi_active to be consistent with Base-T.

* The last couple of slides addresses some of the open items in the draft.
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Figure 49-15—Receive state diagram




Clause 49: LPI Transmit state diagram (Fig 49-16) .s'!';_,m’}'&?-"._
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Clause 49: LPI Receive state diagram (Fig 49-17)
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Cl49 BER monitor state diagram (Fig 49-13)
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CL48 receive state diagram (Fig 48-9) srosecon
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Cl48 Receive LPI state diagram (Fig 48-9b) ..-un
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Figure 48-9b—LPI Receive state diagram
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Cl36 Receive LPI state diagram (Fig 36-9b) .:'!';..;‘“uﬂ
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Other open items In the draft. srofecon

* Clause: 46.3.2.4a Page:130 Draft 1.2.1: Fig 46-8a
— RXC needs to be high during IDLE
— This diagram should show RXC<3:0>, RXD<31:24>, RXD<23:16>, RXD<15:8>,

RXD<7:0>.
— Line 9is not correct. RXC<3:0> is OXF during IDLE and LPI
* Clause: 46.3.1.5a Page:128 Draft 1.2.1: Fig 46-7a

— TXC needs to be high during IDLE

— This diagram should show TXC<3:0>, TXD<31:24>, TXD<23:16>, TXD<15:8>,
TXD<T7.0>.

— Page 127, line 51 is not correct. TXC<3:0> is OXF during IDLE and LPI.



Other open items In the draft. BROARCOM.
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Table 36-3b—Receiver LPI timing parameters
Parameter Description Min | Max | Units
Tor The time the receiver waits for signal detect while in the RX_QUIET state 3 4 ms
before asserting a rx_fault
Twr Time to wake remote link partner’s receiver. Ty is set by the remote link 10 11 us
partner during Auto-negotiation.
Tpa Time to deactivate receiver to handle debounce 1 2 us
Table 48-10—Receiver LPI timing parameters
Parameter Description Min | Max | Units
Tor The time the receiver waits for signal detect while in the RX_QUIET state 3 4 ms
before asserting rx_fault
| Twr Time to wake remote link partner’s receiver. Tyypg is set by the remote link 8 9 us
partner during Auto-negotiation.
Tpa Time to deactivate receiver to handle debounce 1 2 us

Table 49—3—Receiver LPI timing parameters

Parameter Description Min | Max | Units I | h h b I h
TQR The time the receiver waits for signal detect while in the RX_QUIET state 2 3 ms I n a t ese t re e ta es t e
before asserting rx_fault . . .
Twr Time to wake remote link partner’s receiver. Typg is set by the remote link 11 12 ps d e S C rl ptl O n fo r TWR m e ntl 0 n S ab O Ut
partner during Auto-negotiation.(for PHY's that set scrambler reset_cnable . . . .
CRALSD Auto-negotiation. But T, is a fixed

Twr Time to wake remote link partner’s receiver. Tyg is set by the remote link 13 14 us

Ea{:r]gg]g)m‘mg Auto-negotiation.(for PHY's that set scrambler_reset_enable ti m e r' Val u e fro m D raft 1 . 3 O nWard S .

Tpa Time to deactivate receiver to handle debounce 1 2 Hs
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* Annex 73A says EEE technology messages will follow the transmission
of this page with at least two unformatted next pages that contain
Information defined in 45.2.7.13a which amounts to 144 bits sent when
there are only 6 bits of information defined.

* The 6 bits of information can be transferred as part of the message page
and thus only require 48 bits of transmission.

* Add table like in Annex 28C for clarity:

-
o

24| 23] 22 21| 20| 19| 18] 17| 16[ 15 14 13 12| 1

NP (ACK|MP [(ACK2 Reserved for AN

NP [ACK|MP |ACK2 Null Message

OUI[20:13] NP |ACK|MP [ACK2 OUI Tagged

| | | [ | NP [ACK|MP |ACK2 PHY ID Tage Code

7.60.6:1 NP |ACK|MP [ACK2 EEE Tech
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el k=l k=1 =1 =1 (=1

| | | | | NP [ACK|MP [ACK2 Reserved for AN




Clause 49 - 49.2.13.2.2 Variables sReseco

* scrambler _reset_enable
A variable used to indicate to the transmit LPI state machine that
the scrambler reset option is required.

* We need to add more text to set this variable, if the FEC is in operation. It is
optional to the PHY to set it otherwise.



Clause 45 Registers for LPI bits sroseoon

* LPI control and status bits are defined in Clause 45 PCS registers 3.0.x
and 3.1.x for KX, KX4 and KR.

* 1000BASE-KX PCS is based on 1000BASE-X PCS that uses Clause 22
register space. Hence some of the other bits in the 3.0.x and 3.1.x
registers are not valid for KX.

* The above point needs to be clarified for these registers.
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